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Mixed ladder problems (Imin per column) #7

50% of 102 = 21) 50% of 138 =
50% of 94 = 22) 50% of 150 =
50% of 130 = 23) 50% of 10 =
50% of 112 = 24) 50% of 108 =
25% of 12 = 25) 25% of 8 =
25% of 16 = 26) 25% of 72 =
25% of 40 = 27) 25% of 88 =
25% of 24 = 28) 25% of 48 =
20% of 80 = 29) 20% of 55 =
20% of 100 = 30) 20% of 60 =
20% of 75 = 31) 20% of 90 =
20% of 10 = 32) 20% of 20 =
431 + 80 = 33) 1565+ 571 =
348 + 1423 = 34) 608 4+ 1017 =
704 1720 = 35) 1934 4 276 =
713 + 1360 = 36) 124 + 748 =
8.9+ 3.9 = 37) 824 7.3 =
8.7+ 5.7 = 38) 3.6+0.1 =
4.9+ 8.5 = 39) 44+02=
5.0 + 4.5 = 40) 21478 =
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Mixed ladder problems (Imin per column) #7 (Solutions)

50% of 102 = 51
50% of 94 = 47
50% of 130 = 65
50% of 112 = 56
25% of 12 =3
25% of 16 = 4
25% of 40 = 10
25% of 24 =6
20% of 80 = 16

20% of 100 = 20
20% of 75 =15
20% of 10 = 2
431 + 80 = 511

248 + 1423 = 1771
70+ 1720 = 1790
713 4+ 1360 = 2073
8.9+39=12.8
8.7+57=144
49+85=134
59+4.5=104
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50% of 138 = 69
50% of 150 = 75
50% of 10 =5

50% of 108 = 54
25% of 8 = 2

25% of 72 =18
25% of 88 = 22
25% of 48 = 12
20% of 55 =11
20% of 60 = 12
20% of 90 = 18
20% of 20 = 4

1565 + 571 = 2136
608 + 1017 = 1625
1934 4+ 276 = 2210
124 4+ 748 = 872
8.24+7.3=15.5
3.6+9.1=12.7
4440.2=4.6
214+7.8=9.9



